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QUESTION 1

Over the past month, a business analyst (BA) has worked with various stakeholders at Cloud Kicks to document
requirements for an upcoming Tableau implementation. A stakeholder suggested a revision to the requirements. The BA
sent the updated requirements to the stakeholders and they signed off.

Where should the BA track this milestone?

A. Statement of work

B. Change log

C. Sprint plan

Correct Answer: A

QUESTION 2

A business analyst is working with a new customer on a Sales Cloud implementation. The executive sponsor for the
project is new to the company and their role as VP. The sponsor has inherited functional requirements from the previous
VP that were gathered 9 months ago. The project start date has yet to be defined. The sponsor wants to use the
inherited requirements in lieu of a traditional discovery process.

What is the largest risk with this approach?

A. The previous VP\\'s requirements fail to meet current formatting standards.

B. The previous VP\\'s requirements may differ from those of the new executive.

C. The previous VP\\'s requirements are outside of the Salesforce framework.

Correct Answer: A

QUESTION 3

Universal Containers (UC) is wording with an implementation partner to help it optimize Salesforce. A new business
analyst (BA) from the partner was introduced to UC stakeholders a few weeks into the project The BA is getting to know
each of the stakeholders by their roles and contributions. However, the BA had one misstep and is slightly
embarrassed.

What should the BA do to build trust with the stakeholders?

A. Be vulnerable and own their mistake.

B. Promise to work harder to avoid other mistakes.

C. Ask their supervisor for help immediately.

Correct Answer: A
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QUESTION 4

The sales team is learning a new sales methodology. Management wants to align Salesforce opportunities with the
methodology. What is the first step a business analyst should take to begin overhauling the Opportunity object?

A. Understand the current business process.
B. Configure stages in Salesforce.
C. Create new reports and dashboards.

Correct Answer: A

QUESTION 5

A business analyst at Universal Containers has begun user acceptance testing for a new Experience Cloud
implementation with the project team. A major gap for one of the personas was identified in the documented scenarios.
What went wrong?

A. Failure to include all stakeholders in the requirements gathering process

B. Failure to perform thorough unit testing during the development process

C. Failure to validate the application against the functional requirements

Correct Answer: A
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